PRACTICE

8.1 Definite Integral

[ The graph of f consists of line segments and a semicircle. Evaluate each definite integral. |
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3- | (a) Find f;a v(t)dt . What does it reprcSent?

aniT 1 1 displacement = particle moved left 6.5 cm then right 2r+0.5 cm,
sec,y | | | | ! | | | | so the particle moved 2m-6 from its original position.
(b) What is the total distance travelled?
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(e) How much does the particle move left?
6.5 c
(f) What is happening at t = 7 ?
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| Set up a definite integral to represent the following.

4 f@=S-%

5. y=—Vx+3+2

> 6
[ far g@'ﬂ‘j
Ty 3 y= 2% o (5 27
I - X
3
9 3
_{# () (5 M

'_lﬁ‘
% USE A GRAPHING CALCULATOR ON 10-28

I

ﬂ‘

| Sketch a graph of the definite integral without the calculator. Evaluate with the graphing calculator.
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| Sketch a graph of the definite integral without the calculator. Evaluate with the graphing calculator.
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[For 16-21 find each integral given / and g are continuous functions that
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[ For 22-27 find each integral given f and g are continuous functions that |
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| Graph and answer the question Iﬂl‘i‘l’lplllll calculator. ' |
28 For0 < t < 8, a particle is moving along the x-axis. The particle’s position, x(t), is not explicitly given. The

velocity of the particle is given by v(t) = e*/*cos(e®/*) in meters per second.
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Find J; v(t)dt . What does this represent? moved right moved right

%
(yae= 0.39%

represents the displacement of the particle \_/

the particle changed position 0.209 cm moved left
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